MIAMI-DADE COUNTY
v L PRODUCT CONTROL SECTION
BUILDING AND NEIGHBORHOOD COMPLIANCE DEPARTMENT (BNC) 1805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474
T (786) 315-259¢  F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building

Clopay Building Products Company

8585 Duke Boulevard

Mason, OH 45040

ScopE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed by Miami-Dade County Product
Control Section and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade
County and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Section (In Miami-Dade County) and/or the AHJ (in areas other than Miami-Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
BORA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Section that this product or material fails to meet the requirenents of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Residential 2” EPS Classic Steel Sectional Garage Door up to 18°-2” Wide

APPROVAL DOCUMENT: Drawing No. 103028, titled “M/N 4300/01/10; 4400/01; HDG/L;
6200/01/03”, sheets 1 of 1, dated 04/02/04, with revision 06 dated 12/08/10, prepared by Clopay Building
Products Company, signed and sealed by Scott Hamilton, P.E., bearing the Miami-Dade County Product
Control revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade
County Product Control Section,

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement

of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA,

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises and renews NOA # 04-0407.01 and consists of this page 1 and evidence page E-1, as
well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No, 10-1228.01

Expiration Date: March 02, 2016
Approval Date: March 10, 2011
Page 1




Clopay Building Products Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 103028, titled “M/N 4300/01/10; 4400/01; HDG/L; 6200/01/03”, sheets 1 of 1,
dated 04/02/04, with revision 06 dated 12/08/10, prepared by Clopay Building Products
Company, signed and sealed by Scott Hamilton, P.E.

TESTS “Submitted under NOA # 04-0407.01”

1. Test report of uniform static air pressure test per TAS 202 & forced entry resistance test per
AAMA 101,0n Sectional Garage Door (Insulated) prepared by Hurricane Engincering &
Testing Inc., Report No. HETI-03-1358, dated 11/19/03, signed and sealed by Rafael E. Droz-
Seda, P.E.

2, Test report of large missile impact test per TAS 201 and cyclic wind pressure test per TAS
203, on Sectional Garage Door (Insulated) prepared by Hurricane Engineering & Testing Inc,
Report No. HETI-03-1359, dated 11/19/03, signed and sealed by Rafael E. Droz-Seda, P.E.

3 Test report of tensile test per ASTM E-8 on Galvanized Steel Door Skin (Front-Edge)
prepared by Hurricane Engineering & Testing Ine, Report No. HETI-03-T084, dated 12/03/03,
signed and sealed by Rafael E. Droz-Seda P.E.

4, Test report of salt spray test per ASTM B117 on galvanized and painted steel panels, prepared
by Twin City Testing Corporation, Report # 30160-04-63365, dated 01/26/05, signed and
sealed by J. D. Lee P.E.

5. Test report of ignition properties test per ASTM D-1929 on type [ EPS, prepared by Intertek
Testing Service NA Inc, Report No. 3082959-500, dated 09/16/05, and signed by C. A.
Penaloza.

6. Test report of surface burning characteristics per ASTM E-84 on Type [ EPS prepared by
Intertek Testing Service NA Ine, Report No. 3082960-500, dated 10/04/05, and signed by J,
Trevino.

CALCULATIONS: “Submitted under NOA # 04-0407.01”
1. Fastener Attachinent Calculations prepared by Clopay Building Products Company, pages 1
and 2, dated 01/26/05, signed and sealed by Mark W. Westerfield, P.E.

QUALITY ASSURANCE
1. Miami-Dade Building and Neighborhood Compliance Department (BNC)

MATERIAL CERTIFICATIONS

1. None.

STATEMENTS

1. Statement letter of code conformance with FBC 2007, issued by Clopay Building Products
Company, dated 12/09/10, signed and sealed by Scott Hamilton, P.E.

2, Statement letter of no financial interest, issued by Clopay Building Products Company, dated

12/09/10, signed and sealed by Scott Hamilton, P.E.

Al

/" Carlos M. Utrera, P.E.
Product Control Examiner

NOA No. 10-1228.01

Expiration Date: March 02, 2016
Approval Date: March 10, 2011



4 | 3 2 1

w

EILOEAY TAO% -5 ':3%00 4301 43;((; g; 0(5 gg 16 HDG, HD D08 BETAILS REVISIONS
INSTALLER HODELS | RETAIL HODELS BESCRIPTION ‘ p
4300 HDG. 66, 666, 6200 | 27 OA. EXT. SXIN; SHORT RAISED PAMEL REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
% OF 4301 48, €201 27 GA. EXT. SKIN; FLUSH . _ HO M . INCREA A '
DODR HEIGHT | rRathie VIEW "E" /-6" C— CHANNEL e 6L 67, 675, 6703 | 87 oA EXT_SKiNy LOWG RATSED PAVEL 06 . 12/8/10 SH ADDED LMES 62nn MODELS; INCREASED MAX. HT. (WAS 12 )
WP 10 70 ) / 4400 N/A 24 Ga. EXT. SKIN; SHORY RAISED PANEL 1.95" THCK. 14 OENSITY EXPANDED
" o s SILICONE FILLED CHANNEL SEPARATES
>3 10 89 5 I 4401 HrA 24 GA. EXT. SKIN; FLUSH D br s DT ATION_ LAMINATED TO
970" 10 106" 6 [ _}Q\ 27 GA. {0.016" MIN.) EXIERIOR STEEL _'_j_\&,_ 2" THick MANUFACTURED BY PREMIER INDUSTRIES, INC.
10°9~ 1D 12'3° 7 2,75 : SKIN {MIN. YIELO STRENGTH: 30.9 KSI, %
12'6" 70 14°0" EN AT THE (3) LOCATIONS PER CHANNEL NOTEQ ON §14x5/8" SHEET METAL SCREWS — “1 ALY BANED O POLYEIES A 12 GA GALv. STEEL TOP ROLLER ORACKET
143" TO 15'9° g INSIDE ELEVATION BELOW ATTACH THE 6 x 2-1/4"x / ; JOP COAT APPLIED TO BOTH SIDES OF {2-1/2" x 5-3/8"). EACH BRACKET ATTACHED
— 12 GA, STEEL REINFORCING PLATE TO THE UNDERSIDE 54 (24 GA, DOORS STEEL SKIN. "'f/ W/(6) #14x5/8" SHEET METAL SCREWS.
< : ot S W 0 /o e T B R e
: 21 ING SCREWS. BACKER SHEET ADDINIONAL FASTENERS: wis2" .
HaX SECTION HEIGHT: £} s Esr;ssls o: TOR AND BOTIOM SECTIONS HAVE 5 o. INTERM. HIN'GES) 75
ATTACH 12 GA. REINFORCING 2) K7 ¥ %" TEK SCREWS LOCATED AT 1-K" °° . .
(1) 20 GA. X 2* STEEL DACKER PLATES ON G- CHANMEL AT & 3-K" FROM THE TOP EOGE OF TOP Lo I');éé"“‘z'r'?g"" 'sf:Ec'hst”E‘"‘ELﬂ,i‘:féN)(7)Jg§
SHEET AT EACH INTERMEDIATE HINGE THESE LDCATIONS ON EACH SECT!ON AND FROM THE BOTTOM EDGE OF 1/4"x3/4" SELF — . ( EVATION).
LOCATION, BACKER PLATE ATTACHED SECTION, SEE VIEW “E BOTIOM SECTION TAPPING SCREWS. STRAP ATTACHED WITH (3} 1/4%%3/4" SELF
:Snésg%u%csilgw Acm_;g A 14 GA HIN 18 GA INTERMEDIATE. HINGE ;E:Ewcmscgcgsmglﬂv;cg)scnsws 10 DOOR, ONE
H K OF - [ nem HORIZONTAL {TOP} JAMB - ’ ' —"
ViIEW °C EW _\ﬂE_W_C_ ] NG LOAD FROM DOOR) 14 GA. GALV. RDLLER HINGE. EACH HINGE R
g gt | [y g s ——— IR == gt e e VIEW “B" 1 )] FASTENED TQ ENO STILES w/{4) f14u5/8"
1Ll i Eh 1 i i il . iy . SHEET WETAL AND ((2) 1/4';:3/4; SELF 2-1/2"
TAPPING SCREWS. {SEE viEw 8"
& —= — O | | ) pep—— [ — — [y JEp—— [pay JEp—— l
5 .._Ai.u-_ S 12 SETPRE ey { ) ey T === 16 GA. DOUBLE END STILE EACH ‘ TonauE avo GRoovE Jam. | —~l b 578" (vp)
- ' HOIES: " TALL ¥ 20 GA. GALV, STEEL U-BARS. ONE -
i ¢ === —== e T~ === ——— -—= === FASTENER ~BAR AT THE TOP OF EACH SECTION WITH ONE 6 TALL C—CHANNEL
5 J u:':- ¢ T fr ’E:NIF T - | TRoSrERREDT0 T TRtk s ToEn FROM /e AODIONAL U-82R AT THE BOTTOM OF THE DOOR. 16 GA GALv. STEEL
9 —— e L. | _ e — e ——— THE TRACK TO THE 2x6 VERTICAL JAMBS. NO o 1+ ATTACH WITH W0 1/4"x3/4" SELF TAPFING e
¥ niaininial | dataiakals s ek daiadeh Mt | ity [ LOCK POSITIDN {BOTH SIDES} TWO LQAD FROM THE DOOR 15 TRANSFERRED 10 SCREWS PER HINGE LOCATION, VIEW P
n: POINT LOCKING HAS BEEN TESIED THE HORIZONTAL {TQF) JAMB.
S EEEE (EEE === T -—= === ==y ——= PER REQUIREMENTS OF SECTION AX, 0.C MIN. No. ONE 67 TALL, 16 GA. C-CHANNEL PER DOOR SECTION {SEE VIEW F)
a i i 1 45 (] 1 11 1 12.1 OF TAS 202. LDCKS HAVE 2) ALL JAMB FASTENERS WAY BE (BUT hOT OF FASTENERS (2) 1/4°%3/4" SELF TAPPING SCREWS PER ENO SIILE AND ONE
R L o 1Ll i LD 1 i 5/8" MIN, ENGAGEMENT, DOOR REQUIRED) COUNTERSUNK TO PROVIOE A PER VERTICAL Aeh {S] ” 1/4"%x3/4" SELF TAPPING SCREW PER BACKER PLATE LOCAVION.{SEE
g TESTED FOR FORCED ENTRY WITH FLUSH MOUNTING SURFACE, |, - — WVIEW E FOR REINFORCING PLATE MOUNTING)
. " , —_ - BOTH OUTSIDE KEYED LOCK AND
- ——— - - == - —— - INSIDE SLIDE BOLT LOCK OPTIONS.
| 1Ll oo i | Ul TN - 1Ll (SEE LAYOUT OF EACH LOCK FOR WOOD FRAME BUILDINGS /— 2x6 VERTICAL JAMB 27 GA. {0.006 MIN.) INTERIOR STEEL SKIN (DRAWING
Uy |y g ) Y T g ) S P} Ap—— DETAILS.) M e X QUALITY) WTH G-40 . PGALV.. BAKEO-ON PRIMER ANO
—_ — — A BAKED-ON POL R PAINTED TOP GOAT APPLIED TO
LOCATION OF OPTIONAL VENTS, L, U {2) STACKED LHR BRACKETS USED 32”?&%%? S%EII:?OBQI'R u%';ﬂf:zﬂs% S BOTH SIDES OF STEEL SHIN.
| / A \-OPTIONAL QUTSIDE KEYED LOCK POSIIONN  Gh INNER BOTTOM BRACKETS. (3) 2+6 PRESSURE TREATEOD SYP OR :H?Tﬁﬂc'q;\lhd ssT/EaE'L SB[?;;?D:‘ E%I:LAJ:&L‘E::ACHED
A .

(MAX. AREA 120 SQ. iN,)

T MAX, BETTER GRADE #2 OR BETTER WOOD

STUDS OF A STRESS GRADE MNOT {£55

DOOR WIDTH = 18'-2" 1 BRACKETS ATTACHED WITH (2)

ALUMINUM. EXTRUSION & WINYL WEATHERSTRIP,

" M/N 4310, HDGL, H310, 67 WAX. DOOR WIDTH = 18'-0" 1/4"x3/4" SELF TAPPING SCREWS.
Sep ik OB el : NOTE YonT TR BRAGKETS S A0 IOESS N BENOIG (). S1UD e ALUMINUM ATTAGHEQ TO SECTION WITH #i8 x 17 SELF TARPING SCREWS AT Z1-1/2° OC. MAX.
FOR DETALLS ANZIDE_ELEVATION USED TOP BRACKETS FOR LOW 10 BE CONTINUGUS FROM FOOTING 10O JAMB TO SUPPORTING STRUCTURE ATTACHMENT
HEADROCM OPTION DOORS. SEE TIE BEAMS. STUD WALLS TO BE DESIGNED ﬁEC.[LQN_A:A_(S.lD_E_JﬂEﬂL
6" C-CHANNEL. SEE END "DOUBLE, TRACK LOW HEADROCM BY THE BUILDING ENGINEER OR .
SECTION A-A FOR DETAILS NTER STILE OPTION™ DETAL IN ZONE A3. ARCHITECT GF RECORD. 2x6 JAMB TO SUPPORTING STRUCTURE ATTACHMENT
SNAP LATCH ENGAGES STILE SLIDE BOLT
ONTO VERTICAL TRACK. ouTSDE EnD- tock engaces  C—90 BLOCK WALL. 2.000 OR R
EACH SIDE OF DOOR, HANDLE TRk CSICAL 3,000 PSI MIN. _CONCRETE ISTANCE " [STEEL
INTER, STILE LOCK BAR 'é?ncr:K oorNDEvocr:' 2x6 YELLOW PINE (GRADE #2 OR BETTER) JAME SHALL BUILDING TYPE FASTENER TYPE ** FASTENERS |REQUIRED?
ENGAGES IN : BE ANCHORED TO GROUT REINFORCED BLOCK WALL OR C—90 BLOCK 1/4° x 3" (1-1/4" EMBED) ITW TAPCON CONCRETE ANCHOR (2-—1/2" MIN. EDGE DISTANCE) S5~1/2" |17 0.D.
TRACK ON N ! CONCRETE COLUMN, BLOCK WALL CELLS SHALL BE 3,000_PSI_MIN, CONCRETE [1/3" x 4" (1—3/4" EMBED) ITW TAPCON CONCRETE ANCHOR (2—172" MiN. EDGE DISTANCE) 16-1/2" [1" 0.0.
OUTSIDE KEYED END 4 EACH SIDE  LOCK OPTION FILLED WiTH CONCRETE AND REINFORCED WiTH “3,000”PSI MIN. CONCRETE [1/27 x_ 4" (2-1/4" EMBED) ITW RED HEAD TRUBOLT WEDGE ANCHOR (2" MIN, EDGE DISTANCE) 223747 TINCLUDED
HANDLE STILE AR KIN OF DOOR. REINFORCING BARS EXTENDING INTO THE FOOTING AND WOOD_FRAME 1/2" »x 4" (1-5/8" EMBED) LAG_SCREW (ASTM A307. GRADE A} {2—1/2" MiN, EOGE DISTANCE) 13 17 0.0
INTO TIE BEAMS. ALL BARS SHALL BE CONTINUOUS C~50 GROUT—TILLED BLOCK [3/8" x 4" (2-1/2" EMBED} TW RED HEAD DYNABOLT SLEEVE ANCHOR (2-1/2" MIN. EDGE DISTANGE)| 6-174" |INCLUDED
INSIDE HANDLE FROM THE TIE BEAMS TO FOOTING PER BLOCK WALL 2,000 PSI_MIN. CONCRETE [1/2" x 4" {7-1/2" EMBED) WEJ—IT SLEEVE ANCHOR {2-1/2" MIN. EDGE DISTANCE) 27-374" | RCLUDED

OR CONCRETE COLUMN. BLOCK WALLS AND CONCRETE
COLUMNS TO BE OESIGNED BY THE BUILDING ENGINEER
OR ARCHITECT OF RECORD.

QUTSIDE_KEYED LOCK TRACK CONFIGURATION

SNAP LATCH LOCK OPTION * - FIRST ANCHOR/SCREW STARTING FROM BOTIOM AT MO MORE THAN HALF OF MAXIMUM ON CENTER DISTANCE.

HIGHEST ANCHOR/SCREW INSTALLED AT LEAST AS HIGH AS THE DODOR OPENING HEIGH
** — ANCHORS CAN BE INSTALLED OIRECTLY THRCUGH TAPERED TRACK ANGLE IN LIEV OF 5/8 % 1-5/8 LAG SCREWS

HORIZONTAL TRACK SUPFORT BY NOTE: TRACK CONFIGURATION
DOOR INSTALLER (10 SUIn) DOES NOT AFFECT THE WIND NOTE: SUPPORTING STRUCTURAL ELEMENTS A '”””Ir
- LOAD RATING OF THIS DODR. ! SHALL BE OCSIGNED BY A REGISTERED W ”f,
— == JAMB CONFIGURATION PROFESSIONAL ENGINEER FOR WIND LOADS Mg B .
PREPARATION OF JAMDS BV OTHERS,  gpemion c¢ :
3" GALV. TAPERED STEEL TRACK AND ANGLE SO G TS BrNe
- L ' . " 0OOR QVERLAP® (EACH SIOE)
TRACK THICKNESS: .101". ANGLE THICKNESS: .080 VERTICAL TRACK S10P MOULOG BY DO0R TISTALER {10 S ¢
- LENGTH "L" B e B e RES 5-3/4"x2-1/8°%3/8" AND IS
VERTICAL/HORIZONTAL TRACK 4" SEE "JAMO_PREPARATION MEASU * et
. JUNCTION. TWO 1/4" BOLTS :__RO:AL‘:;‘%J“M gS:%':g mOOR | .- NOTE ATTACHED WITH ONE §8x1/2" WAFER SCREW.
z & NUTS FOR FACH TRACK. SLOT TO TRACK JUNeTion  |HEIGHT | .
u - g:g_' ;-’;_ R-2/8" x 3-1/47 . x 080" AREREQ MGLE: _—?
SEE LAG BOLT MOUNTING " "
o \ADDITIONAL MOUNTING SLOTS REQUIRED FOR 7°6° 78" AT FRACK COMFIGURATIOR 1 7/16" ROUND pusEnguT }Es%uegﬂi\a I‘.'i‘!l%% %5."}%%“'”?‘ ONE 5/16" x 1-5/8" LAG SCREW SPACED
g 1 DOORS OVER 7'0" HIGH SPACED AT 12" CENTERS. g0t g RoLLER Shart EACH Fiaxs/es SrEeT BeiaL ) ‘B‘LL¥2E('5€”§_')1';£§N'“\‘%§. N A A
— 6 - n . . STEEL ROLLER MINGES ey ’ : " Y 0 TFAMILTON] ‘P 6 .
N . 50" | 96 <1017 THICK 3 GALY. STEEL TRACK FASTENEQ rAsTGc’?«so TO ENO STRES W/(4 EACH ETC.). ADDITIONAL LAG SCREWS LOCATED AT .
. [~42" ON CENTER 56| 102 70 TAPERED ANCLE WH ONE 17468 578" SHEET WEL §g§/§",§ D D HINGE. 16", 28", & 40" FROM BOTTOM. ALSO TWO fr R'DA [IEENSE® 5. 55'235
& L e 10°'0"_| 108° BOLT & NUT AT EACH MOUNTING SLOT. LAG SCREWS LOCATED ABOVE t AN T
i TT - 'lf:g :;_ 3" O 8-1/2" LONG STEM BALL BEARING SIEEL ROLLER. VERTICAL/HORIZONTAL TRACK JUNCTION. DES'(’N dgﬁtDSv‘ 'ﬁ?ﬁ PS* & —50.0 PSF
o Wer | 126" ' ' PART NO.: N/A
F A=t 34" ONE, " TRACK HOLT AND NUT AT EACH 1207 | 138° FRODUCT REVISED /
i MOUNTING SLOT LOCATION, 126" | 158" LHR BRACKET (2-1/2" x 5-3/4" x 12GA) ATTACHED WiTH h Uniess Slated Otnerwise | D 8585 Duke Boulevard CLOPAY WINDLOAD RATING
5 150 | 148 (2) t/4" x 3/4" SELF TAPPING SCREWS, NOTE THAT LHR as complying withthe Florida | 70| FRANCES ore — onay Mason, OH 45040 USA
13%" | 150° BRACKETS ARE ALSO USED AS "INNER BOTTOM BRACKETS" Code : - Tel. No. 513-770-4800 \I\/ 8
N 1407 | 156" AS SHOWN [N ZONE C-3. 0= .03 Buitding Products Company Fox No. 513-770-4853
12 | 162 ‘
150" | 165" QRNBLE HORIZONTAL A 0'88 = & -8(1)5 DESCRIPTION: M/N 4300/01/10; 4400/01; HDG/L; 6200/01/03
15 | 1747 . = +.005
- 10" 16°0° | i .0000 = +.001 DRAWN BY: RJK DATE: 01/13/03( SCALE: N/A DWG.
L 5-1/2" DOUBLE _TRACK Degrees = £1/2° |CHECKED BY: MWW DATE: 04/02/04/SHEET 1 OF 1 [SIZE
HEADR T Unless Stoled Otherwise
TETRITTT 7 DIMENSIONS ARE IN INCHES.| DWG. NO.: 103028 VER: MD




